Before returning this product
to the store of purchase

Contact Dee Zee if you experience the following problems:

* Missing Parts
* |nstallation Problems/Questions
* Warranty Questions

1.800.779.2102

Hours of operation: 8am - 5pm CST, Mon-Friday

Review complete warranty policy and register your product at:
www.deezee.com/warranty.php




INSTALLATION INSTRUCTIONS
BULL BAR PART# DZ 760641/760643
07-08 TOYOTA FJ CRUISER

PARTSLIST:

1BULL BAR

2 BRACKETS DRIVER/ PASSENGER
47/16 X 1 1/4 HEX HEAD BOLTS
47/16 NYLOC HEX NUT

8 7/16 FLAT WASHERS

43/8 X 41/2 HEX HEAD BOLT

4 3/8 NYLOC HEX NUT

8 3/4 FLAT WASHERS

PROCEDURE:

1-

2-

REMOVE CONTENTS FROM BOX AND CHECK FOR DAMAGE. VERIFY
ALL PARTSARE PRESENT. READ INSTRUCTIONS CAREFULLY.
LOCATE FRAME MOUNT FOR LOWER BRACKET (DRIVER SIDE
SHOWN). INSERT (2) 3/8 X 4 1/2 HEX HEAD BOLTS, (2) 3/8 FLAT
WASHERS. INSTALL LOWER BRACKET USING (2) 3/8 HEX NYLOC
NUTS, (2) 3/8 HEX NYLOC NUTS (2) 3/8 FLAT WASHERS, LEAVE LOOSE.
SEE FIG. #1

REPEAT PROCEDURE #2 ON OPPOSITE SIDE

INSTALL BULL BARONTO VEHICLE USING (4) 7/16 X 1 /4 HEX HEAD
BOLTS, (4) 7/16 HEX NYLOC NUTS, (8) 7/16 FLAT WASHERS. LEAVE
LOOSE SEE FIG #2.

LEVEL AND ADJUST BULL BAR ASDESIRED THEN TIGHTEN.

FIG. #1

FIG. #2

NN

DRIVER SIDE
SHOWN

PASSENGER
SIDE SHOWN

3/8 x 4 /2 HARDWARE

7/16 HARDWARE




